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For each of the following, find ﬁ in terms of x:
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For each of the following, find :—Z in terms of x:
Ll) Foctorise the numarator
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For each of the following, find Z—Z in terms of x:
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For each of the following, use the chain rule to find ‘;—z in terms of x: " li 2 3
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For each of the following, use the chain rule to find ;z' in terms of x:
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Acurve has the equation y = xvx +

the curve where the gradient is 0.
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Q6

The function fis defined by f(x) = 2x* + px* + 3x — 16. Determine the range of values
for p for which the equation f'(x) = 0 has at least one real solution.
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(b) find the coordinates of any stationary points and determine their nature ‘
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Given that y=(a—‘(+x)", x#0
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(a) use the chain rule to find ;y

4w (5 (1-5) =0

(b) find the coordinates of any stationary points and determine their nature

(€) sketch the curve.
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Given that y = e+x)‘, x#0
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(a) use the chain rule to find Ey

(b) find the coordinates of any stationary points and determine their nature
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(c) sketch the curve.
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The function fis defined by f(x) =x" —x, n € & = 2. Determine the relationship =)
between the value of n and the number of real solutions to the equation f*(x) = 0. {—/()c) - nx e B= o
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The curve with equation y = ax? + bx + ¢ passes through the point (—1,4). At the 5‘/‘,‘“ & (. | ! Y )
point (2,7) the gradient of the curve is 7. Find the values of a, b and c. 5 ) "
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